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e Please check that this question paper contains 6 printed pages.
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e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

o US—UF # TRA B B SR Y MY Bre TR BT B IW—YRADT & IS W fored |

e Please check that this question paper contains 30 questions.

o AT Sifa WX o fF 30 U7 § 30 U 2|

General Instructions: -

1. All questions are compulsory. s+t ue= 31fart g |

2. The question paper consists of 30 questions divided into three sections A, B ,C and D .
Section A contains 10 questions of 1 marks each, Section B is of 5 questions of 2 marks
each, Section C is of 10 questions of 3 marks each and Section D is of 5questions of 6
marks each. yo9—99 % 30 yeq € T aR @i A, BC der D # dfct mar 81 @< A # 10
yeq gadd 13k TR BT 8, Es B # 5 U A% 23 wWR #1 8, W CH 10 yeq & o
TI% 3 36 TR BT 2 AR @s DH 59w € O A% 6 3 WR FT 2|

3. All question in section A are to be answered in one word, one sentence or as per the exact
requirement of the question . W€ A & YA® U BT SR UH I AT T ardd ql Fe=l
D SRRd B TIAR IR G |

4.  There is no overall choice. However, an internal choice has been provided in 1 questions of 2
marks each t3 questions of 3 marks each and two questions of 6 marks each.g& usi—u= # ®Ig
famed T8 5| R W 2 3/ & 1 USl H, 3 3/ & 3 U H TAT 6 3 & al USI H ARG [Jbed g 17 2|

5. %Vgt% the serial number of the question before attempting it. &1 g &= | Ugel SHHI HHIH AT

|

6. In question on construction, the drawing should be neat and exactly as per the given measurements.

I @ TSI H I Wee qAT &1 TS Al & AR B ARy |

7. Use of calculator is not permitted. However, you may ask for mathematical tables. degeter & wamT
B AT LT ®, Safh TORNY RPN &1 TN PR Fohd o |

MATHEMATICS

Time Allowed : 3 hours Maximum Marks : 80
SECTION A @vs ‘&%

1. Write the condition to be satisfied by g so that a rational number has a terminating

P

q

decimal expansion. q & fow a9 @ fory (fpw Rerfy #) aRew dem 5 T Al SIHA BY

2. Without drawing the graphs, state whether the following pairs of linear equations will
represent intersecting lines, coincident lines or parallel lines6x -3y =-10;12x-y = -
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foe e i g' = Y P @ e Rge AdidRen w1 g ufdesdl YR, F9rll Y@l a1
HATR @131 BT YR BT |

. The sum and product of the zeros of a quadratic polynomial are —% and -3

respectively.What is the quadratic polynomial ? & fgaria 9gue & I[RI®! &1 ARG [oH
HH —% dk -3 ¥ | fgardha sgue @ 1.

. A student draws a cumulative frequency for the marks obtained by 40 students of a class, as

shown below.Find the median marks obtained by the student of the class.v& = t& @ &
40 BHET GRT UK il P ARl IRARAT GiadT g, o fo S @ a1 8| wefl @ & BEf gRT
T 3fhT BT AT DT ST B |.
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T 3faRTA BT
(@i®)Class-Interval

Justify the statement : “ Tossing a coin is a fair way of deciding which team should get the
batting first at the beginning of a cricket game.”fshdc & Wet &I URH B T I8 077 o &
o p— &9 uge Tooidmoll B, s o) RiddT ST e =amraivra fafr @i |am=r e 2 2
Find the ratio in which the line segment joining (2,-3) and (5,6) is divided by x-axis.fa=gaii
(2, -3) 3R (5, 6) BT AT ATl WIRITS X— 317 T {6 arura & fawfora gmm |

Find the values of a and b for which the following system of equations has infinitely many
solutions:a 3k b & w1 sma @ifoy, e forg = Tfaxe e & sFda: 3Fa & & I(2a -1) X
=3y =5;3x + (b -2)y =3.

Show that the points A(1, 0), B(5, 3), C(2, 7) and D(-2, 4) are the vertices of a
parallelogram.

framatt 1 &g A(L, 0), B(5, 3), C(2, 7) o D(-2, 4) T wwiqk aqust & o |

. What is the ratio of the areas of a circle and an equilateral triangle whose diameter and a
side are respectively equal ? v& ga dem Ue THa1g B & &F%l BT U a1 811, AfE g
BT AT 3R FHETg RS &1 ol FH &7 |

10.Which term of the Arithmetic Progression 3, 10, 17, ...... will be 84 more than its 13" term.

wrav 473, 10, 17, ...... PT 98 YT ST B ol 139 97 W84 3w &

SECTION Bgrs &
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11. If two zeros of the polynomials x*+3x®—20x2—6x+36 are 2 and —+/2 , find the other
zeroes of the polynomial.sgue x*+3x*-20x*-6x+36 @& T TIH 2 R -2 B| 3B I
HEEAEINECO]
12.A solid metallic cylinder of radius 14cm and height 21cm is melted and recast into 72 equal

small spheres Find the radius of one such sphere.
1439 31 T 2199 99 o U & do ®I feeraR 72 THaa B Mferdt gRl Sy 2 Ui

TRIb Tell BT 353 s B0 |

13. In the figure given below, AC is parallel to BD .Is C
AE _DE, justify your answer <= smapfer # fear mar 8 f& AC,
CE BE
BC & @ik 21 @ 25 _PE 9 oy sv o fomy a8 ¢ E
CE BE 5
B

14.A dice is thrown once. Find the probability of getting:(i) a number greater than 3 (ii) a
number less than 5.

TP U1 Uh dR Bl oral &,(1) 3 9 g1 G, (i) 5 9 B &1 U HR- B Wbl Sid dIforg
|

OR (31eran)
A bag contains 5 red balls, 8 white balls, 4 green balls and 7 black balls. A ball is drawn at
random from the bag. Find the probability that it is (i) black, (ii) not green.
T Aol H 5 ofldl, 8 AHE, 4 B AT 7 Blell e & | Y Wa Aol A aprell Sl 8, a1 wiieban =id
Fiforg fos @ (i) ®reft, (i) a0 721, 8rfT |

: 0
sih 390 +2tan11° tan 31° tan 45° tan 59° tan 79° —3(sin? 21° +sin? 69°) .

SECTION Cgrue 1

16.Prove that:Rig &= and . cotd ;. cecocosecs.
l-cotd 1-tané

15.Evaluate: s sird &R

cosb51

ORGarerar
(1+ sin@ — cosej _ [1-cos®
Prove that:Ryg @=1:\1+sin6 +cos6/  V1+coso |
17.Prove that the coordinates of the centroid of a AABC with vertices A(Xy, Y1), B(X2, y») and C

(X3, y3) are given by (m +Xp Xy Vit Yo+ ng
3 ’ 3

g @Iiw f& fog A(Xq, Y1), B(X2, V2) @ C (X3, ¥3) & &1 AABC & @=a @& Fauie

X+ X, + X3 Y +Y,+Y;3 2
3 ‘ 3
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18.P is a point in the interior of rectangle ABCD. If P is joined to each of the vertices of
rectangle and the length of PA,PB and PC are 3 cm, 4 cm and 5 cm respectively,find the
length of PD.smad P @& ofaeid P was fag g1 P &1 omad & (Udes) 1 el | Sirer a1 2 o
PA, PB 3R PC @ avarsal waer 3 91, 4 30 3R 5 31 & | PB @1 o g sd o |

ORayerar
The incircel of AABC touches the side AB.BC,CA at P,Q,R respectively.Show that

AP + BQ + CR =% (perimeter of AABC) .aABC & siasfd @ram wm sfqae qo AB, BC sk CA

@1 wae: P, Q 3R R W wet awar §1 Rard AP+BQ+CR=%[ABCEF[ gfama (@R |

19. Solve x —y + 1 and 3x +2y -12 = 0 graphically.Find the point of intersection of two lines
and calculate the area of the curve bounded by these lines and x-axis.
Xx-y+1=0 3R 3x+2y-12-=0 Pl 3TelRgd B | & NRA & Ufeoed fd=g &1 yd1 oWl o iR g
AT T &Fhe S0 DY el NERI X—31&l TR fHefdl & |

20.Find the sum of the first 25 terms of an A.P. whose n" term is given by t,=7 -3n.
T AR 2oft & Y9 25 Uet &1 INT I1d BRI oG hr n df g 7—3n 2|

ORGayerar
The sum of n, 2n, 3n terms of an A.P. are Sy, S,, S; respectively. Prove that S3 =3(S, - S)) .
fodl =R 2oft & n, 2n, 3n 9&l &1 AT HA: Sy, Sy, Sz 7, d@ R aRr S3=3(S, - Sy) .

21.The radii of circular ends of a solid frustum of a cone are 33cm and 27cm and its slant
height is 10cm. Find its total surface area.
TF 3q & S fr=id & gareR RRE @ By 338 den 273 € a9 g9al b Sarg 1099 B

SHHT AT Y S DITOTG |

22. Construct a circle whose radius is 3.5 cm and let a point P be 8 cm away from its centre.
Construct two tangents from p to the circle. Write the length of tangents by actual
measurement. U& 3.5 9 3501 & 90 & Y& BN | 59D dw H 8 W B g W P uw fag 21 P
H g9 W 3T W @R H | aRdfdd A9 gRT W @RI & s S B |

23. Prove that the intercept of a tangent between two parallel tangents to a circle subtends a
right angle at the centre of the circle.Rig @ISR & g @1 a1 AR TRl Rl & 49 gh @
XET BT AATUE B W FHADIT AR HT 2 |

24.The king, queen and jack of clubs are removed from a deck of 52 playing cards and then
well shuffled. One card is selected from the remaining cards. Find the probability of getting:
(i) a heart (if) a king (iii) a club (iv) the 10 of hearts’

U 52 AN @I Tes! 9§ TSI T qraurs, ¥ iR o™ Fardd foy Ty, d@ 9 TSS! &I 3] ave
Wl TAT| 99 gU 19 9 ¥ U 1Y A1 AT | UTRAHAT S1d Hifo] & a8 amy
(i) a1 @1 g (i) arewre g, (iii) = @1 g (iv) 9 @7 10 BT

25.Prove that any number of the form of 4",n e N can never end with the digit 0 .
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26. Some students arranged a picnic.The budget for food was Rs 240.Because four student of
the group failed to go, the cost of food to each student got increased by Rs 5.How many
students went for the picnic ? @& BEl 7 fUse &1 A fBar| WIoF W) W 240 . 37T |
|Ifhd IR BT A8l Ol 9 | YIS BE & Ao R @ 5 ©. 9¢ 737 | fhd" 8 fUdhe w® T ?

ORayerar

If a student had walked 1km/hr faster, he would have taken 15 minutes less to walk 3
km.Find the rate at which he was walking.
e v w1 6 /Her =el H gig @R < ar 3 6 &1 g T B | S 15 e BH HI A

g T S god ® URME T e | (@R Fard)

27. The median of the following data is 525.
feforRad srimst &1 ATt 525 €

aif—arcvrer Class- TRARAR
Interval Frequency
0-100 2
100-200 5
200-300 X
300-400 12
400-500 17
500-600 20
600-700 y
700-800 9
800-900 7
900-1000 4

Find the value of x and y if sum of frequencies is 100.
X 3R Y BT HH & B AfE IRARAT BT IRT 100 B |
28. An open metal bucket is in the shape of a frustum of a cone, mounted on a hollow
cylindrical base made up of same metallic sheet. The diameter of the two circular ends of
the bucket are 45 cm and 25 cm and the total vertical height of bucket is 40 cm and that of
the cylindrical base in 6 cm. Find the area of metallic sheet used to make the bucket. Also
find the volume of water the bucket can hold.
g1 B TP Gell dlee] U & ATBR DI © [OT9dT R I 81 ¥ I91 AT WRISAT PR ¢ | dleel &
SFT g RIRE BT AT 45 1 AT 25 FHT © | dTec] d T TS 40 T TAT IR AN Bl HA18 6
A 2| et | ol o1 BT WATER BT &FBE ST DY | U BT AR W A BN AT dred] §r o
AT B |

TMC/D/79/89 5 P.T.O.

Resi.: D-79 Vasant Vihar ; Office : 89-Laxmi bai colony
Ph. :2337615; 4010685®, 2630601,9202221792(0) Mobile : 9425109601;9907757815(P); 9300618521;9425110860(0);9301994837;9425772164

PREMIER INSTITUTE for X, XI & X1l .© publication of any part of this paper is strictly prohibited.
Visit us at : http://www. targetmathematic.com; Email:agyat99@gmail.com.




TARGET MATHEMATICS by:- AGYAT GUPTA Page 6 of 6
29. The angle of elevation of cloud from a point “h” m above a lake is “ «" and angle of
depression of reflecton (shadow) of cloud in the lake is g .Prove the height of the cloud,

above the ground is n{tan g + tan a)
tan f — tan «a

TP IRT W o H B FAE W Th g & qed BT ST BT ¢ & T IRA F I8l Bl BRAT B
S B 5 | Rig B oA arae @) S = A frtan a)

tan B —tan «

ORaferar
A man on a cliff observes a boat an angle of depression of 30° which is approaching the
share to the point immediately beneath the observer with a uniform speed. Six minutes later,
the angle of depression of the boat is found to be 60°. Find the time taken by the boat to
reach the shore.

U Tee WR 48T g AEH U AT BT ST IV S [pAR BT 3R Y iy I a1 <& 2, 30°
ST & | 6 fiFe a1g Arg @1 9= Bivr 60° Ut & | A gRT fBAR A ugE § o WA e
BITTY |

30.Prove that in a triangle, if the square of one side is equal to the sum of the square of the
other two sides the angle opposite to the first side is right angle. Also prove that, in an

equilateral triangle ABC, if D is a point on side BC, such that BD = %BC. Prove that

9AD’ = 7AB®.

fpefl Byt o afe U gorr &1 @ 3= S Yofiell & o & INT S SRIER 8, Al Usell Yol & A
BT PIT FADIT BIAT & | I8 A1 g & & wwarg By ABC & D, BC w® a5 fag 2 e«
BD:%BC,ﬁ‘I@'Eﬁ% 9AD? = 7AB°.
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